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QUESTION 1

Click the Exhibit button. 

A LDP Layer 2 circuit is shown for VPN A and VPN B. LDP tunneling over RSVP is activated on P1 and P2. Referring to
the exhibit, which statement is true about the LDP Layer 2 circuit? 

A. MAC learning is needed and using the inner VPN label between PE1 and PE2 for VPN A or VPN B. 

B. Targeted LDP sessions are established between PE1, P1 and P2, PE2. 

C. Label stitching must be configured on P1 and P2 for end to end transport LSPs. 

D. LDP must be enabled on the loopback interfaces of PE1 and PE2. 

Correct Answer: D 

 

QUESTION 2

Click the Exhibit button. 
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In the exhibit, what happens if the source starts sending multicast traffic toward R1 and there are receivers registered at
the RP? 

A. R1 encapsulates the multicast packets into a PIM register multicast packet. 

B. R1 encapsulates the multicast packets into PIM join unicast messages. 

C. R1 forwards the multicast packets on the S,G tree towards the RP. 

D. R1 tunnels the multicast packets in PIM register messages toward the RP. 

Correct Answer: D 

 

QUESTION 3

Click the Exhibit button. 

Referring to the exhibit, which statement is correct? 

A. Only multicasts packets (224.0.1.39) are allowed on the input and output direction. 

B. Auto-RP discovery messages are filtered in the input and output direction. 

C. Rendezvous point announcements are filtered in the output direction. 

D. This filter does not work because the input or output parameter is missing. 

Correct Answer: C 
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QUESTION 4

What is the first step of the CSPF algorithm\\'s pruning process? 

A. Prune links with insufficient bandwidth. 

B. Prune links that contain an excluded administrative group. 

C. Prune links that do not contain an included administrative group. 

D. Prune links that do not contain an administrative group. 

Correct Answer: A 

 

QUESTION 5

You are a network administrator in charge of configuring CoS for your network. Your network includes a voice
application with strict latency requirements, so that any packets delayed by more than 75 ms are effectively useless.
When configuring the scheduler for this application, which feature ensures that you do not waste buffer space? 

A. rate-limit 

B. adaptive 

C. latency-limit 

D. temporal 

Correct Answer: D 
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